A E E Al

A

SN ERXX A D
M (LN Ay U (YYNSTHE/LUHH)
Cel: dpRE2Y (982
_ _ bSNE =
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
SAXXI A 2,420,326 2,492,694 AT72,368
AN SAzr 25 (LD BN /ABIEMET) 2,019,788 2,153,985 134,197
HRRH2HA 190,869 180,934 9,935
HH2H | 190,869 180,934 9,935
101 Q14 1,100 1,062 38
10 JIZH22XUHEES 1,100 1,062 38
OFAZZI(IIXIXID &) o8
33,5002 x3H x5 23 1,005
O4EE JI2REZ 1,005,000 %9.45% 95
201 LEr2HH| 137,278 131,660 5,618
01 AtR22IH] 115,078 112,100 2,978
O1.Let2H| 108,878
-HE2EXE JIE=EH] 5,000,00024 5,000
-FArze2E 2 6,240
HAZCIEE 7,000 *5Z 20 A+ 122 840
THEARE 30,0002 x4 E 122 1,440
MDD B2 25
22,0002 158 S+122 3,960
—HEA =25 1,040
A7Rs 7 50,000 *8E +23 800
cERR NE 5,000 x8Z +63| 240
-EEA HE i 2,000,0008 x4l 2,000
-EH=2D| 2 Jt2I] 2ot 2 26,450
CEH2I1 & AIDI(EHARAZI!)
30,0002 x3E 53] 450
M ESICPSE=DIpb
7,000 *2,000H 14,000
JI2J] 20|t 12,0002 *1,000H 12,000
-ANEESZ OFXl HZE 5,000,000 x 14! 5,000
-840 X 50,0002 x123] 600
-HEY N2 R0 5,600 100 %23 1,120
—HASH =2 400,0002 123 4,800
RO IAIE E92 37,800
T, 5 FodH 1,300,000 122 15,600




SN SRR D
Jé-lﬂ: Iltg—éoHX-l C%:IE_I: Dl-il.(olljl-_gn__gn_éHX-l/Oltﬂ-%CﬂX-l)
ool HRUPH2Y (9l &8

S BB SR (B ) - MRAY - BAS Ofl At o d 5 HR=2
C 5,8 AIRA 1,850,000 «12& 22,200
—ZUN2LECANAE 2H (Y SHS) 14,400
N = 60,0002 x20CH = 12& 14,400
X X 2 4,428
BN PN 3,000 %972 «12& 3,492
BUNEE PPN 3,000 268 «12& 936
0O3.244 2,840
-HEY ] L Z2AH 2ARE 2,000
cUAIE 200,000 x2H 23| 800
;1] 60,0002 x2H x23| 240
= k= 4 8002 10001 =23 960
HUDWACS S EHAAT
70,000 *3H x4 3| 840
O5. 2| 3,360
-MXEE S2FX 0422 SA
7,000 x5H 8L x12& 3,360
02 22344 22,200 19,560 2,640
O1.2Z2Z22%HA 19,200
-EAES RE= 16,800
THERH 250 %3,500= x 122 10,500
cEJIRH 1,750& x300E 128 6,300
SHE AIEE 50,000 *4CH*12& 2,400
O3. A& & HIK X Y] 3,000
“HEA HIY B4 Y 224 AFJH W
Al 3,000,000 1A 3,000
202 0| 9,400 9,400 0
01 =Woib] 9,400 9,400 0
OSHS M0 2 FAF AEZ0H|
20,000& *4H x5 x103] 4,000
ORFLL FXNH| 60,000 *3H *3L x53| 2,700
OdZ2 & HABEHAR =AY
60,000 *3H *32 x53| 2,700
203 YR=&Xd| 30,000 30,000 0
03 AIMFRHARF=AH| 30,000 30,000 0




SN SRR
By X YHY Gy YSHLUDTHT /LB HT)

ool HRUPH2Y (9l &8

_ _ _ Muo
SH-EH . S2(30) - MRAY - BES Ofl & 04 Sl e HRE2
SNEEEETTY 30,000, 0002 30,000
301 LA 5,994 8,812 £2,818
09 ZA2LRATYI 3,194 6,212 3,018
OBUZRRA(MREX) 3,194
-Jl2=s 88,0002 x1& =128 1,056
-S4l 5,000 x1H 222 122 1,320
- SH| 2,000 1 H 22«12 528
=28= 130,000& x 1825 260
-EHE=Ed 15,0003 18 »2 30
10 BAIAHIENS 2,800 2,600 200
O2X0ts NHHEBA KNJALH
300,000& «7JH 0t = 2,100
ORBR BSNBA 22X 34|
7,000 «10H x5 *23] 700
405 KHeHHE SHI 7,097 0 7,097
01 XA ESESH=HI 7,097 0 7,097
O0t2lS HIE L YZA B2 7Y 5,000
-0f2IE g& 500,000& »3H 1,500
g = 500,002 *2} 1,000
—Hlat 400,000& »2JHK 800
~HIIHE 500,002 *2} 1,000
-xXtel 35,0003 »20JH4 700
O &4 W) (20%0/2H)
2,097,000% = 1CH 2,097
B SHAE 22 251,059 242,671 8,388
SdASATH A2 251,059 242,671 8,388
201 LEr=23H] 238,679 236,071 2,608
01 AtR2teld 2,520 2,520 0
O5. 2l 2,520

“HRse ARER FA2DX 4
7,00020x3% %102 128 2,520
02 ZZ=2YY 236,159 233,551 2,608
O1. 2223 LA 182,411
-2l BhF 5 78,371




SN

HE: XY A USHUANDTHE/AUHE)
ol HESAAS 22 (5 &2
_ _ MNuE o
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ol AF o8 Hws2
D 2LABE 0ID
5,0002 *255] & +122 1,500
DEN 2EAISE 00D
95,0002 *183] &1 x 122 20,520
"YBLEE JI=E  3,7008%673 Hx128 2,975
ABIHS SE2
502120 51222 %675 & #1221 17,688
"BHE s82
P00 +BE 51202 #6735 & +122 25,728
TANUELHMI| BlHARE
30,0002 253 &1 122 9,000
HlaeRe SRUMK 0182
80,0002 122 960
=Sl 100,200
CALS sl
29,0002 ¥1503] &1+ 122 52,200
TEIOY ZDEINY ASE
4,000,0002! %15] & #1224 48,000
-=0Hel FHAE S 60,0002 * 122 720
“HE HHHANY ABR 260,000 * 122 3,120
O2. 012t 2,268
“228 IPIHA PYOIHA, DA, BA
A1) 37,8002 45 *3LH +52 2,268
O3. AIE ZHIR I 51,480
-S4l 16,760
"HEREI KXY
50,000,000 *4/ 100 2,000
IEEZA KXY
3,500, 00021 *9CH *4/ 100 1,260
TTEW LA EH 2 TUHAIE S
2,00021 *300CH * 122 7,200
"OXE,IPIIE HaD| 2SN
350,000 *450CH #4/ 100 6,300
YR8 PCRXIES
1,350, 00021 480CH *4/ 100 25,920
~F &1 6,800
TQAESI |SXES
600, 0002 *50CH *4/100 1,200
"Yes meH |SXE4
500, 0002 *280CH #4/ 100 5,600
~¥FI RN 20,000, 00021 %4/ 100 800




A SRR HEE L

By X YHY oy Y

el HEEAAS 22 (el &2
S BB SR (B ) - MRAY - BAS Ofl At o d 5 HR=2
- (=) T - = S = o = 0:”/&,% Wsa
-SH AP Y| 22| R X Y|
15,000,000 241 x4 /100 1,200
202 0| 2,880 3,600 ANT720
01 =W 2,880 3,600 AT20
OFBESHER=RAY|
60,000 *3H x4 2 x4 3| 2,880
405 XHAEESH| 9,500 3,000 6,500
01 AL =EFHSHI 9,500 3,000 6,500
Qa2 QAIESD 2 700,000 =5CH 3,500
O™ EAY DH 2 5,000, 000& 5,000
O3loal ZTNER MsAFe 2L
1,000,000 = 1CH 1,000
MRSt SAO2 24 57,491 58,029 A 538
HAIC MEStA A 57,491 58,029 538
101 @l H| 12,540 10,756 1,784
10 JI2tHIZ22XNEES 12,540 10,756 1,784
O==gZDSHEH 2L 33,5008 x23H 80 5,360
OS2W SAFY L 20| o=
33,500 x2H 13 7 S H 6,097
o402 J128242 11,457 ,000& *9.45% 1,083
201 LBt2d9d| 27,538 25,940 1,598
01 AR 22|t 25,788 25,940 A 152
O1.det==2Y| 21,000
-MOISg2F& dBtx==H| 6,000, 000& 6,000

SEYRZNE PAUNE DY (HESRE)

80, 000& 15001 £ 12,000

-tR01E012s FAEE7Y 3,000

TADI R MOEE I 3,000 «300% 900

" IL2I1(EH=21) 7,000& +300% 2,100

O3.2d=¢ 280
-FUASXNHIIS s dH2

3 ?IE e 70,0003 x2H %23 280

Ob5. =&l 3,108

-MOIS 2R $ SHZOE OrAXNEES

224 =4 7,000&»3H 9L ~12& 2,268




M SRR HEE B
R LA o2 25 (UBIZ DA /UBIHEA )
S RS TADZA =M (o &

A= L

_ _ pSNE e
2N -3 - c2(3H) - NEME - HES Ol & ‘Oﬁ,‘\jg‘; Hns2
-5 SYgZNE NEEHS 22N 24
7,000 x2H x5 «12& 840
O6.dxt= 1,400
-EYsAZNE EAHEH X
350,000 =44 1,400
02 332ZH4l 1,750 0 1,750
O1.3322% A 1,750

1,7502 %1,000& 1,750

202 Oddl 3,600 4,320 AT20
01 =2UWnbl 3,600 4,320 AT20
OsgHZNE dsuFHE 2 HHl FAG
] 60,0003 3 x5 x4 2] 3,600
301 etE4= 11,888 14,318 A2,430
09 ZUAZRRABH= 6,388 9,318 22,930
O3 (sYZ IS FHI) 6,388
=2 88,0002 x2& 128 2,112
-S4l 5,000 x2F x222 12 2,640
- Sl 2,0003 ~2H x22 « 122 1,056
=285 130,000& +2& 25 520
-CTHRg=EE 15,000 x2& »2 60
12 JIet243 5,500 5,000 500

OCEgZlE =HE4N 22 (BZHM =5
)

500&+1,000& 110 S 5,500

405 KtoHESHI 1,925 2,695 ATT0
01 A =SSFHSHI 1,925 2,695 AT70
O +=2 FHIEH F 385,000 504 1,925
F0l=3oi& 1,129,977 1,189,347 /59,370
o= A 979,977 939,347 40,630
401 AIEHIZ =0 769,977 719,347 50,630
01 Al&HI 765,000 715,000 50,000
OALZF0l=RAAtS AAIE AL
15,000, 0003 *14] 15,000
OsUHMSAIE L MOISAIES 24 (PO0L
) 20,000,000& =14 20,000




SN SRR
By X UMY oy YSHLUDTHT /Y HH)

Sl 012l 2

OB 20120/0§ A& Y 22 (PO0L)

10,000,000& 14! 10,000
Osd &3l Z& L ZAHE X (L=250m)

40,000,000 *14] 40,000
OSoll 2ed12| 0t etz & & (L=500m)

40,000,000& 14! 40,000
O&oll 2eH2e] A& EHI(L=150m)

35,000,000 14! 35,000
Osdl ==HBI1Z)222 22 =4 (A=30

om') 20,000,000& 14! 20,000

L=70m) 30,000,000& 14 30,000
OdZ 32l 83X =2 EZ(L=300m)
30,000,000& 14! 30,000
O4lZ W=12] 2 Z&(L=300m)
30,000, 000& *14] 30,000
OZot n82e| otHotsS 6t2==& Xl (L=250
m) 40,000,000& 14! 40,000
O#ast g4l otset S8 AR (L=110m)
30,000,000 * 14! 30,000
O#st g&el M&EEHI(L=200m)
40,000,000& * 14| 40,000
O&et 2ds s2EF 9 =24 X (L=1
50m) 30,000,000 * 14! 30,000
Osct YA MY EZE(L=300m)
30,000,000& * 14| 30,000
OJIAH &322l ot2st+== =22 (L=170m)
30,000,000 * 14! 30,000
OJIH 1X1el OIS Y=E =X F(L=300m)
30,000,000& » 14| 30,000
OJIH stthel 82 == Z & (L=500m)
50,000,000& * 14| 50,000
O=% el oots M Z I (L=50m)
40,000,000 » 14! 40,000
O=% ge| £t b2 T X (L=100m)
40,000,000& » 14| 40,000
O=% FXtel X M A (L=100m)
40,000,000& * 14| 40,000
OJI= 28l s AWk
40,000,000 »14! 40,000
OBES U4ENU T2 E IM2I|(L=21
Om) 20,000,000& » 14| 20,000

o= 0l D&Y ZE(L=110m)
20,000, 0003 * 14! 20,000

20
B
2




SN SRR
By X UMY oy YSHLUDTHT /Y HH)

Pl =l & EERE

i _ . rSJEL== -
SM-EH . C(BH) - HRAY - B2 Ofl &+ 04 Sl ko HRs2
OFYE 3= AL OH= 02 & (L=60m)
15,000,000& » 14! 15,000
03 AIZ=RC0HHI 4,977 4,347 630
OARS EOUSAAY ALRHY)
790,000,000& *0.63/100 4,977
402 QIZEXE01H 210,000 220,000 A 10,000
01 DIATELE 210,000 220,000 10,000
OO0tSsl &84 (PO0L) 30,000,000& » 14! 30,000
O=d Oiatel olsslzes
30,000,000& » 14! 30,000
O=d 2a22 ol2slzgs
20,000, 0003 * 14 20,000
Ozt B4H2l DI2aB (s RA)D4+
10,000, 0002 *14! 10,000
OJI =312l oI2s S
60,000,000 » 14! 60,000
O=st 232 OI28B AE
60,000, 0003 * 1A 60,000
ST 150,000 50,000 0
401 MBI 150,000 150,000 0
01 A&l 150,000 150,000 0
O E2F0IEHAAIAHI 150,000, 000& 150,000
“EIIE & olet2e 46,144 45,576 568
PHIE U HUBLRY 46, 144 45,576 568
201 Lt 28,350 28,470 A 120
TSN 28,014 28, 134 A120
O1. Y er=24] 18,878
-J|2ES LEt+=2H| 2,798,000& 2,798
-0l ar2te] Yert=2H] 10,000,000& 10,000
GlAS FMAARE Do (LT
E4) 270,000& »2CH x23] 1,080
A2 IN L ABHI SO
10,0003 252 2 E 43| 2,000
“FoAY HET HE 3,000,0002 3,000
05.32 4| 9,136
~E=RUPEZ S4/(PO0L) 6,616,00024 6,616
SOAEE U AHER ALK SA
7,000 *3H »30 x4 3] 2,520
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’J
oF
uJ

T

(e}
g8 AE
Ko 202 2RI
E ol Rl Rl b
D
O
& m S 8 |9
<= = (= © o [oVIN ISV BN
< - -
mZ S| 2|9|e
= BlEe
o o o
[$2] o o
s 8 8|22 3 S I 3§ 8§ 8 8 8 8 |8
ol o (=22 2 8 8§ B8 & © |3 S slslslzle 2
. ke Slofs @~ = 318 S3(3|8|8 § € 8§ § &8 § 8
3l i e “lelelals = > & W 3 XA
g slglgls & 6 & & -9
S
o 110} o _
70 8 S 3 - > S wow
B S - 8 8 ¥ % & S Yk =
. < P T S g Db 3
o S ™ ®»L 8 8 S o8 L g x
ol - S S v % S © 3 N < LI o
D - o = P - ) = %
3 z 2 g T8 8 = - i S g S
I R 8 8 8 = o S S ke
B3 > - =7
. 2 K m © o e 3l = = R
= i 2 B D i = o 5
= o = O i i uJ T |jnw ) 5
) = M = d o L _H Ol RS A ol
= K 5 w o fr ur ol + 0
il K- ak o H il | S| & Ok =<
E._O _ o Ou_ S (N e ™~ . _ D_'._
8 O - 0 o A r o | A - <F
ol o D 5 o0 W | Jfor o L A N ook < KK
g e o @12 8 & wih homs s ow T |w|N | R|E Wy oz ROR
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- |y o | — o O O : ! ! [ | Kl H ok 30 ok o - ”xno . . Ho o
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il mwl=| K|S O
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SH SRRAHE Y
HE: XYy oY

BT o2 YSHUBTIHE/UALHT)
o PHED U RSANY 54 (5 &2
_ _ HE T
SN EB -GS - MBAY - BES 0 & 24 e HRE2
THER Nz¥el 9fEd OH2eR
34 7,000%! +3% 492 » 122 2,268
“REMUY ALET FA2LX 4
7,000%1 +32 92 » 122 2,268
O6.2xt8 1,800
SHTSE Q20| AN SUIY AR
150, 00024 *3CH *43] 1,800
00 B2 2,808 3,276 ~468
O1. 223 LAA 2,808
-HOIETV AIBE 65,0002 *390H A +122 2,808
202 OfHl 5,220 5,220 0
01 =00l 5,220 5,220 0
OPZE2NE ¥ Il FHO
60, 00021 32§ x32 53| 2,700
ORSHUAR =X 0L
60, 00021 +32§ x221 73| 2,520
sgx Hoze 308, 744 403,676 194,932
SYE N2Y L BB Mz 308, 744 403,676 94,932
201 er2g| 254,318 238,075 16,243
01 AFRarelt] 24,630 25,490 860
O1. L8| 19,800
ek - BN R DIEA Y| 5,000, 0002 5,000
SHIIOHE B (B S4R 250,008 %122 3,000
Dl BRANALY SN P4E
150,000 * 122 1,800
SHNUE OlBA4R 20,0002 x25021 5,000
SEIIAE Y EIIRA 242
1,000,000 *13] 1,000
“HEE o MAE Ha 2,000,0002 2,000
SHUAYNY L2 2,000,000 2,000
O4. 1= 910
~2HIIN 282 130,000 +7% 910
O5. 22| 3,920
SNk BIHAREE ORISR SA
7,00021 %724 x82 103 3,920
02 ZZ2YH 229,688 212,585 17,103

_‘]O_




SN

SR A 0t

B RUHE oY Y (YUTDUT/AUHET)
el 288 HR2 (el =3
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
O1.2223<HA 89,171
&Iz 5,500,000& «12& 66,000
&t = 500,000& x12& 6,000
-XE 2E HMAs=s 13,656
=3 810, 000& »8CH 6,480
S 663, 0003 »2CH 1,326
T st= 650, 000& »9CH 5,850
-SIMNERE= 2,700
NS 400,000& *22l 800
2E Xt 50,000& = 19CH 23] 1,900
SDERYEYS
350 *5,675m *0.82+50/ 100 815
O2.¢2Hl 29,171
-H=2 1,185&%0.9 £ x952 «8A| 2++7TH 5,674
=3 1,185&+16 £ *952 »12CH 21,615
e
, 9002 120 =8 A| 2+ *40,000Kcal /100, 000Kca
[+1CH 1,882
O3. A8 IS XYl 28,960
-2 /FAE2=H 4,222 +5,675m 23,960
-JIEtAIE | X2 =4 5,000,000& 5,000
O4. XtEd et 82,386
-5 E&(&8) 4,621,000 *2CH 9,242
-S8(X1Z) 4,095,000 «6CH 24,570
-SE(aE) 2,558,000 = 1CH 2,558
-SE(SE) 2,958,000& = 1CH 2,958
-2 (AE) 3,241,000 *3CH 9,723
-SE2(5¥) 4,580,000% *3CH 13,740
-stE2(UE) 7,216,000 *2CH 14,432
-Sx=xt 5,163,000& = 1CH 5,163
202 OdHl 5,400 5,400 0
01 =Wobl 5,400 5,400 0
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SN SRATXEE D
By XYM Y YSHLUDIHT /Y HT)

el 228 W22 (98

SN EE - S (BH) -

x
i
e
e
0x
Jo
=
z
12

=1

R

121
==
El
i
oy

OAS - 2 HER WSO

60,0003 »3& x5 *62] 5,400
206 M=l 300 300 0
01 M=l 300 300 0
OFAL agtEd N 300,000 300
301 Let2H= 4,244 4,146 98
09 ZUAZRRABH= 3,194 3,106 88
OZAZ2RRAMNRER) 3,194
-Jles 88,000 x1&~128 1,056
-S4l 5,000 x1E 222 12 1,320
- Sl 2,0003 ~1H 22«12 528
=285 130,000& 1 »25 260
-THRg=EE 15,0003 1 »2 30
10 HAAHIEA S 1,050 1,040 10
OUW2&IIAL M2l HIotodl 24
60,0003 x7H 2 840
OFA gtsaged I SAHS
7,000& 30 210
401 AIEHIZ =0 31,000 100,055 269,055
01 Al&HI 31,000 100,055 69,055
OMAEH NS HFEZWHMSA
20,000, 000& *14] 20,000
O&JIS4ald HHISA 5,000,000 * 14! 5,000
OXEH 220 &X 3,000, 000& »2CH 6,000
405 KHeHHE SH| 13,482 55,700 N42,218
01 A =SESFHSHI 13,482 55,700 N42,218
OkL=Hz #¢ 8,500
=P\ 100, 000& 20K 2,000
- at 200,000 20K 4,000
-2/2/Z HIO0IZ2 250,000& »2H 500
-HBIS (S ) 200,000 10K 2,000
O7FUAag d23J 7Y 2,482,000 ~1CH 2,482
OFXAtE AlAE 2 2,500,000 = 1CH 2,500
2H3H(SRXXEE ) (JIEHIIE) 400,538 338,709 61,829

_12_




FM: SRS E 0
HH: HH2IZH(SAUII#Z ) (OIEH/IIE
Eel: ERIHI(SF NI#E ) (el =3
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
lEARIHI(S+ AUXdEED) 262,433 195,804 66,629
FNeIE2AY| 222,433 155,804 66,629
101 el 185,673 121,444 64,229
09 RIAHAZZXNE =+ 185,673 121,444 64,229
OF At &EA HARY 20,563
=g 33,0303 »1H+300< 9,909
-&0= 825, 750& *300% 2,478
-FE S| 825, 750& *120% 991
-wEE 2| 30,0003 *1H«12& 360
-JHH 2 2| 50,000 x1Z « 123 600
-EY 60,0003 x1H«12& 720
-Axt=g 33,030 x1H ~ 18 595
-5 33,030& x1H«52 1,718
A2 2R+F 6,2003 x1H #2241 2t+ 123 1,637
- M S A 80,000& x1H«12& 960
-2HIHa3 33,0303 * 1H +3 128 +50% 595
OF=4 2R 17,976
-Jlz2as 29,0103 1€ +300& 8,703
-a0= 725,2503 1 «300% 2,176
-HEF Y| 725,250 * 1= % 120% 871
-Es2 2| 30,000 x1H« 123 360
-JtH 2 | 50,0003 *1H«12& 600
e 60,000 x1Z « 123 720
-AX=+G 29,0103 ~1H«16 465
=54 29,0103 1«52 1,509
-AzZte 2% 5,440 1B <22 A 2tx 123 1,437
- A g A 80,000 x1& 128 960
253 29,0103 x1H « 1L » 122 +50% 175
IOHS 22X I 2RSS 147,134
= RS = N = u 100,000, 000& 100,000
AR Z(20UAHZ3, 08 MHEEE)
693, 142,000 +6.8% 47,134
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